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KEY

1. Existing rear extension to be carefully demolished and rebuilt to
match existing. Bricks to be reincorporated where condition allows.

External walls to be built with insulated cavity construction.

[ ] EXISTING

Y77/ 77" EXISTING TO BE REMOVED
A

2. Parapet walls bricks and coping stones to be set aside and

reincorporated where condition allows.

PROPOSED

ASSUMED EXISTING BOUNDARY
[ ] Decision Notice dated 17th November 2020.

4. Existing rooflight to be carefully removed. Replaced with 2no.
smaller rooflights, installed within the footprint of the existing.

3. Rainwater goods to match existing.

Rooflight profiles and design to match existing where possible.

Rooflights dressed to perimeter with lead flashing.

Householder Application included the granting of

replacement of the roof of the rear extension and

installation of metal balustrade.

5. Roof tiles to be lifted to allow for the installation of foil backed

installation between roof battens and boarding. Replace existing
tiles or blend with new to match existing, so to achieve an even

distrubution of patina.

This application respects that Decision Notice but allows

for the rebuilding of this extension due to structural reasons

connected to impact of surrounding trees

6. Existing window enlarged. Design to match existing.
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PLANNING APPLICATION

PROPOSED LHS ELEVATION
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